/) Installation Instructions

ercussion e A . \
/ 1.Locate Tembos frame onto /7 N
k |ay legs and, and bolt into place F “
using pre drilled holes, 2 bolts ,' 1.5m 1.5m ‘l
e Musical per post.(See Assembly 1 y
Guide) ,, ¥ ’
AN / “ R K
. N u
Surface Fixed .. g 7
Tembos / ™~ O ————— Install Instrument
Page 1 0f 3 2. Attach Surface Fixing posts | with 1.5m free space
— to legs(1.2) (See Ground Fix gg:mgeﬁ point)
Post Installation Sheet) G
L J
(\ I O
e 3.Locate Instrument in
desired location and mark
Components: holes to fix to desired surface.
) x12
M10x100 Security Screw e e
e 4. Fixto Surfaceusing
M10 Flanged Slide Bearing recommended grqund . e et e e
anchors not supplied
\Q X2
Mé Eye Bolt
____1__GroundSurface = _®___ S D, I D R
Metric Conversion:
730mm/2847/64” ..
1 5m/ 59" 5.Make sure aIIﬁxmgs.are CAUTION: Tembos
2690mm/ 106" covered and secure using surface can get hot
cover caps provided in direct sunlight, if
possible installin
shaded areas.
‘ Weight of heaviest part 52kg (Tembo Frame)
Pair Neoprene Surface Fix ’ & O ® S Sparesavailable from
MADE IN x4 i
BRITAIN ‘ Paddles X1 Components: percussionplay.com or fromyour

M10x70 Security Screw local distributor
BSEN 1176 % M10Barrel Nut 2 Part Cover Cap




| .
/) Assembly Guide PPTEMB
ercussion - Tools:
) //ﬂ
(Jlay <L Sy
Outdoor Misical Q PinHex Driver Bit TX45 Driver Bit
Instruments
Surface F|Xed Main Frame will arrive pre Q 178 - B
assembled
Tembos /
Page 20of 3 ® I P
( ) /
00} 0
—_ () i ~ ~
H ~— ~—
T =
o— g9
Thread Lock Solution . 4 O v |\
Required (Not Supplied)
Om— g
\ ) 178 .
O— 9 I I I i [
Instrument aiallalallalla
Components: Thread Lock Solution
Required (Not Supplied)
° NS AN AN RS
) x12 — A i g
‘ -5 —
M10x100 Security Screw (o] —_— —‘ o /_ ‘— @ COMPONENTS LIST:
J L -9 M6 Eye Bolt X2
“ x24 Post Centres
516mm /20 5/16 v M10x70 Pin torx X4
M10 Flanged Slide Bearing CAUTION: Tembos s inch g o M10 Barrel NutPin torx X4
surface can get hot o M10100 Pin torx X12
indirect sunlight, if . ) -
- X2 . . . (- L L 4 M10 Black Slide Plastic Bearing X12
E\‘U possible install in — —
5 Brace Bar X1
M6 Eye Bolt shaded areas. F P S —
o o =] b :U
Thread Lock Solution
Required (Not Supplied)
Pair Neoprene Ground Fix (o8 x4 -y x8 Spares available from
EI‘Q&II?I%:H ‘ padd|esp><1 Components: , x4 ® percussionplay.com or from your
BSEN 1176 P : M10x70 Security Screw  M10Barrel Nut 2 Part Cover Cap local distributor




1

| ercussion

Dy

Surface Fixed

Tembos
Page 30of 3

SR

Components:

&X4

M10 Barrel Nut

.

M10x70 Security Screw

Qe

2 Part Cover Cap

Thread Lock Solution
Required (Not Supplied)

N

BRITAIN
BSEN 1176

Surface Fix Post Installation

Locate the Surface fix

Plate into the leg of the
instrument.

Repeat Parts 1-3for both legs

Thread Lock Solution
MSupp\ied)

Fix instrument to Surface
fix plate using M10 bolt
and Barrel Nut and use
thread locking solution
to prevent fixings working
loose.

Tools:

%XZ

TX45 Driver Bit

Fix Surface Plate to the
ground surface Ground
Anchors Not provided
cover fixings with caps
provided




	Slide 345
	Slide 346
	Slide 347

